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LAW
Paper -1l
1. According to Aray, Jurisprudence is 1. 2Rl ad Hwol Rifiira A

(A) a particular method of study, not of E——)

law of one country, but of the general (A) 1Y N5 BN dfk uiq siAElf

notion of law itself Aoy oflcicloll OARA S\ lof)
(B) scientific synthesis of all essential AlssA ugla 8

principles of law (B) SiuEIsll dHid Aol Rigidld
(C) science of law, the statement and Astifels HeANEI B

systematic arrangement of the (C) siatle Mustiol ud KEIEA 121

rules followed by the courts and the

ROTING! ) vindiai diddl el cialRad
principles involved in those rules

aNsyell 2 idl [GiRaA 859

(D) a science which endeavours to Gaccdl Rigiad) 8
ascertain the fundamental principle (D) sRIA ol uiMdicalBa B dai Yoneyd
of which law is the expression Fagidlefl widdl sa1 2idg Rstiol &
2. Match the List — | (Books) with List— 1l | 2. 2i€l- 1 (Ya8)) a aidl-1l (duis))
(The Authors) and choose your correct A1) NG id dAHR) ¥dio ofldatl
answer by using the codes given below : fiscd) aiel)l ulie sA:
List—1 List - li 21d)-1 241611
a. Elements of 1. B. N. Cardozo a. Aoz 2N 1. ofl. Vel SIS
Jurisprudence vyfiyse
b. The Nature of 2. H. L. A. Hart b. a2 g 2. A4, &l
. wyYSRiad
Judicial Process
' _ MRAA
c. Dilemmas of Law in 3. T. A. Holland c. [SAaa 208 3. A.9.8ldles
the Welfare State A g €]
d. The Concept of Law 4. L. M. Friedman ache 222
d. €l sodwe 4. Ad.Aa.sAd
Codes : Q,ns (.n
a b c d fyscu:
A 1 3 4 2 a b c d
B 2 4 1 3 A) 1 3 4 2
c)3 1 4 2 B 2 4 1 3
(C) ()3 1 4 2
© 4 2 1 3 D 4 2 1 3




3. According to Professor Hart, the meaning | 3. 31342 &1l 3id MAIA ‘E5RISAL

e 2I6Eall 2igAH] ol AHIA2
of the term ‘Positivism’ includes
gy B,
i. Laws are commands. | L siIEl D R D,
ii. The analysis of legal concepts ii. SIAEINl VIl ViodNEl AIHIDS

Ao AldeiRis ypueldl qHad 8.

is distinct from sociological and

iii. dfus YsierNa aills =Nsaell,

historical inquiries.
YRudlell 2R Wifid 58 3 oluiy

i. Moral judgements cannot be sdl sl olk

established or defended by rational iv. Y1 uPRafd’ Fad viduiR osél
sl AHAG B A s 39) A
AR A olicicell WEdd AviA)

argument, evidence or proof.

iv. The ‘as it is’ actually laid down, has A&,
to be kept separate from the law that dHI vl oA UNdl sl
ought to be_ ?:llilﬁ thh:

Choose your answer, using the codes Riscu):

given below :

(A) H13A i yal i AR B
Codes :

(A) Only i and iii are right (B) A i, ii el il a1 B

(B) Only i, ii and iii are right (C) 313 i, iii al iv AR B

(C) Only i, iii and iv are right

(D) Alli, ii, iii and iv are right (D) aaiid i, ii, iii el iv ARA B




4. Which of the following statement is
incorrect ?

(A) In Jurisprudence, we are concerned
to reflect on the nature of legal rules

(B) In Jurisprudence, we are concerned
to derive rules from authority and
apply them to the problems

(C) In Jurisprudence, we are concerned
on the essential features of legal
systems

(D) InJurisprudence, we are concerned
on the underlying meaning of legal
concepts

5. Match the ‘Theory’ with the ‘Jurists’ who
developed the theories and choose your
answer using the codes given below :

Theory Jurists
a. Theory of Living 1. Ehrlich

Law

b. Imperative 2. Duguit
Theory of Law

¢. Theory of Social 3. John Austin
Solidarity

d. Theory of 4. Emanuel
Categorical Kant
Imperative

Codes :

a b c¢c d

(A 1 3 2 4

B2 3 1 4

C) 1+ 2 4 3

oy 4 3 2 1

4. oA eAi Ul s Rugial VI B 2

(A) Rify aRsial ANS SRIZAR

fraalol 23U A1 Acig eydiA
4R

(B) [ufign0uai 24ud Aal wiAel
Aadidal ) i dal SIS
y GuAd1 sl A1 oig adlA
¢}

(C) RN A sigoll M6l

A6l gaiel A1 Aoig spdlA
¢l

(D) Rl 24 stojell vaIcl
viadla w&l 48 Acig AR

¢l

5. ofld 2N PRugida § d Rigiol A1
NS 3 Vel A Rigia lsAdd B
2a dHIRD wdIol ofidall fsey) Hielh
yie 5:

Rigtict Riglot
a. Ul siAElal 1. Relds
Rigia

b. siRiclef] vfdRIde 2. §3d
Rigia

C. AHIYS ASsdloi 3. %8l NP2l
Rigid

d. 2uve ularidiel 4. AdNoYd sid

Pigid
fysc):

a b ¢ d
(A) 1 3 2 4
B 2 3 1 4
€ 1 2 4 3
D4 3 2 1



6.

Which of the following is not a theory
of corporate personality ? |

(A) Fiction Theory

(B) Interest Theory

(C) Bracket Theory

(D) Will Theory

Read the Assertion (A) and Reason (R)
and choose your answer from the codes
given below :

Assertion (A) : Alegal rightis a legally
protected interest.

Reason (R) : An element of advantage

is essential to constitute right.

Codes :

(A) Both (A) and (R) are right and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are right and (R) is
not the correct explanation of (A)

(C) (A) is right and (R) is wrong

(D) (A)is wrong and (R) is right

6. ofid eal) Vol s Riurr 22

ofloiafld cufBacuddl Riuruel oell 2

(A) siculais R 2uell
(B) f&d Rur el
(C) Q32 RuRr el

(D) gRel Riur el

. oflA 2iNd laRics Rigia (A) del

sRel (R) di) 2a daid 16! ofl Aol
fuscWiaiefl yzie s3:
taa1cHs  [eiol (A): sigell 1SR

A sigell Ad 2w s g

fka 8.
sr@l (R): SLAEL dcd 81 skl

501 HIZ VidAcAg] BD.

fiscu):
(A) cid (A) u1a (R) 241 8 244 (R) A (A)
ol 2ArRN A3yl B

(B) oidl (A) 2ia (R) 21ui & ia (R)
(A)efl 211 A2l ol

C) (A)AR] 8 ua (R)vilg 8

(D) (A) vig dial (R)aR] 8



10.

1.

. The liability has been defined as ‘the

bond of necessity that exists between
the wrongdoer and the remedy of the
wrong’ by
(A) Salmond
(C) Austin

(B) Holland
(D) Bentham

. A 'buyer purchasing a book from the

shopkeeper falls under which kind of
possession ?

(A) Immediate possession

(B) Corporeal possession

(C) Mediate possession

(D) Incorporeal possession

“Post modernism is a notoriously
ambiguous concept’. Who said this ?

(A) Lloyd

(B) Bentham

(C) C. K. Allen
(D) Rosco Pound

Who said that “The new Constitution
establishes, indeed a system of

Government which is at the most quasi-
federal, almost devolutionary in character,
a unitary state with subsidiary federal
features rather than federal state with
unitary features” ?

(A) Pandit Jawaharlal Nehru

(B) Dr.B. R. Ambedkar

(C) Dr. K. C. Wheare

(D) Dr. Rajendra Prasad

8. ofldon V4 A wdicieR]ld] cavi
21 usB sf B 27 - wdceRl A
¥3RAldg ctiel B 3 I vl SR

daies Wizl §cdol GUUAR A

URdcy gad 8.
(A) s (B) @dios
(C) MRea (D) Aot

9. &sloer uidY yrds uidledr cala
sl MUSRa) ‘SR €A ?

(A) wAa sai
(B) 3d soi
(C) gy 50

(D) wyd 594
Aidonatiel AN 21 gisy 58¢ 7 -

diglisdiaied]  Rurel  guald

Aa Rilkoy vaid 3.
(A) Qs
(

B) clofl
(C) 3. Ace
(D) A8 MIGos

10.

11. g darer A wwsd  ualig
Wua s B 3 ¥ udllus
ud-yanrRl), 28 RRe  siHl
usiefl, dxy Vsd-ll aziel eRidadi
A2xaiRfl eu  sadi Sler AR
daieh eRiad As dofl A o
«Mel 53 B - 1l [Eld  Slatl

SRl sdaii AAd 7

(A) \Ufbd wdigald o&3
(B) Si. ofl. AR. idss?
(C) Si. 3.2l <&

(D) si. AFog UAIE



12.

13.

In which case, the Supreme Court struck
down the provision in the service rules
requiring a female employee to obtain the
permission of the Government in writing
before her marriage is solemnized ?
(A) C. B. Muthamma Vs. Union of India
(B) Nilabati Behera Vs. State of Orissa
(C) State of West Bengal Vs.
Bela Banerjee

(D) Maneka Gandhi Vs. Union of India

In which case, the Supreme Court
upheld the constitutional validity of the
Constitution (93 Amendment) which

introduced Article 15 (5) ?

(A) Indra Sawhney Vs. Union of India
(B) M. Nagaraj Vs. Union of India

(C) Ashok Kumar Thakur Vs. Union of India

(D) TMA Pai Foundation Vs. State of

Karnataka

12, ol eafcan Ul sul SAAi AR
eI IR foraai 3l
Al Nauglg 2w s 2Adl 3
A1 91 albcl sAUFRA @2l sl

Adiell

uBdi A28k uIAel ARudai ydiaoll
Mnd sl Nadly s &dl ?

(A) Alefl.j@2a Qze GIRd ABWR
(B) ofldiciidl o121 [Q3e 20RA1 2%
(C) ula conn v [Q3s Aal Aa

(D) Raisi viell Q36 eiRa 24P

ol euidai 3 Vg sa1 Suai
AARYU  Eldd g1 ciEgRRIsl €3

Al YeRtofl AAeifaisdia A1 AV

13.

1ef] 3 Foll AN AU (W)A ADE
GAaHi A1) 7

(A) Jog Roll Rize
GllRA ABR

(B) At aRIv figg
CIRd ARSI

(C) s §AHR s1FR Rie
MIRA AUBR

(D) & s A vy 5160320 RiR¢
selles Ay



B

14. Match the List — 1 with the List— Il and | 14. oflQ ealRa 2é)-1 o w1l A

select the correct answer by using the AN A A wl Risedaiel
codes given below : AR vdiel Rie s2A.
List -1 List - Ii AEl-1 1€l-1l
a. Ex post facto 1. Indirect interference a. ysuiead] ser 1. et Sidell Sotaii
yda g2ady
Laws in the field of
another legislation b. Pislla (sceid) 2. Rictieoi ANoNai
siyelel Rigid
b. Doctrine of 2. To maintain balance 5'%""].““"""}*"\
4 Addolofl
Colourable between provisions il
Legislation of laws in case of C. Yool weuzaa 3, §cd sl auid
conflict Rigtia J3 3ol ¥IBR S

c. Doctrine of 3. One cannot be SIRIE Afeccyai
A8l Al A A A2
afaa A% s

Construction that was not declared a ASIA

Harmonious punished for an Act

as an offence at the d. Rictveradl Pagia 4. % Dorciga ol

time of doing the Act
g RS A1 AR Y

d. Doctrine of 4. Only such provisions

84 ddl sriEld]
Severability of an Act are void QoLeUSB ¥ LI
which are inconsistent LI
with the Fundamental
Rights fuscyy:
Codes : a b ¢ d
a b ¢ d A 4 1 2 3
A 4 1 2 3
B 83 2 1 4
B 3 2 1 4
© 4 2 1 3 C 4 2 1 3
@3 1 2 4 @Cys 1 2 4




iz

15. Read the Assertion (A) and Reason (R)
and find out the correct answer from the
codes given below :

Assertion (A) : The entries in the three

legislative lists are not always set out with

scientific provision and definition.

Reason (R) : The entries are not powers

but are only fields of legislation.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)is true and (R) is false
(D) (A) is false and (R) is true

16. Which of the following is/are correct ?
Choose the answer using the codes
given below ?

i. It shall be the duty of every citizen
to respect the country and the
Constitution.

ii. All minorities, whether based on
religion or language, have the right to
establish and administer educational
institutions! .

ili. Decisions regarding disqualification
of members of Lok Sabha are taken
by the leader of the House.

iv. Conduct of a judge of the Supreme
Court of India cannot be discussed
in the Parliament.

Codes :

(A) only i, ii and iii are correct
(B) only i, ii and iv are correct
(C) only ii, iii and iv are correct

15. [aicis [alel (A) dia sRel (R)
gil dad oA 2Ndi  Rusclaiel
AR vaiel Ude 5.

[i==q1cs  Rgiol-(A) o1 sizEIqe])
YR WBa A fyND EAn
Astifois  NoGIGA A QAARA
A18 usdti 2adl «19l,
sl - (R) Ry Aci o2l uig aix
- siyEldl o0 Yud 8.
SETCNE
(A) ciad (A) a (R)aR 8 (R)A
(A) ol ARN Al B
(B) oidl (A) ¢l (R)ARI 8 vl (R)A (A) ofl
AR Anyfa ol
(C) (A)AIRY B a (R)WE B

(D) (A)vg & ua(R)uR] B
16. oflA exfaqr Vgl sa 2w B 72
fuscWloll 23 dAID wdisl AN,

i. €35 oiPIfRSoll 221 2id citREIA
1€ Avididl]l gw 289,

ii. =l WAl eiNIol AR W\
asiy  dydfaaa  Yaiflas 6=
AUNIel vl AUIA S0l
dlusir 8.

i. dis Asell AGANf  AAIRASIA
A [orelR) dgal At A
Ayl 2419 8.

iv. AdRU ueidd ol wyell adejsdl
Ul AAedi s usiy alk.

fuse):

(A) 134 i, i dal i AR D
(B) & i, i dad v AU D
(C) AP i, iii a v AU B

i, i, i

(D) i, ii, iii and iv all are correct (D) da iV A AU D



B

17. Match the List—Iwith List—1llandchoose | 17. a1él-1 o Wwél-H A& NS id

the correct answer by using the codes AR waio ofldoit fusclatie vrie
given below : 8.
1dl-1 21l
List—1 List-1i

. dlkadl feiely

——

a. oARNIMksIol

e

a. Independence . Administrative

Wdatall
of Judiciary adjudication L
b. afkad]l sid 2. UBRg UUElA
b. Executive 2. Parliamentary 243v
Legistation form of the c. wd-ouifis s 3. ¥Nell Raie)s
Government Vol gloAFR
¢. Quasi-Judicial 3. Appointment d. 2ayfkd 4. 42 &8
qicieid)
Function and transfer of
Judges
d. Collective 4. Ordinance
Riscu):
Responsibility
Codes : a b c d
a b c d A 2 1 4 3




B

18.

19.

The Constitution of India’s One Hundred
and Fourth Amendment, 2019

(A) Extended the period of reservation
of the two Lok Sabha seats reserved
for members of the Anglo-Indian
community

Restores the powers of the State
Governments to identify and specify
socially and Economically Backward
Classes

Extended by ten years the deadline
for the ceasation of reservation of
seats in the Lok Sabha and the State
Legislative Assemblies

Introduced the National Goods and
Services Tax (GST) in India

(D)

Read the Assertion (A) and Reason (R)
and choose the correct answer from the
codes given below :

Assertion (A) : One of the principles of
natural justice is “no man shall be a judge
in his own case”.

Reason (R) : Principle of natural justice

requires fair play in action.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

18.

19.

el cloll oltiRoll AsUL ALRML
YUIRL 01¢ G2l

(A) didd  @GiRdlY Asoll AGA AR
dliAc WUACA AisAaiiel A
%34 1iloll VlollHdoN YM2U YERUIANI
A1)

%A U AA108 daty s
UL AAIva vl il aiss]
sdiof] Acll cleld s i)

AlsAGH v AVAAl g 26NN
ollid AR Yl aaell v
diflvi &4 ¥ Hi2 doliaaai i)

(D) IR AW d Adl K
(9¥9d) i3y seani i

oA ANE [aRAIIs Rigio- (A) dia
SRRIHR)YIA ua ofldotl Ruscuilaiel
ARD wdiol e 5.

Pr&aics  [gia-(A) MRAPIs ol

As Rugid 8. - Agual ulkq
Uidiall  ell 33 el QR
o% olofl UZ afd

SRRI-(R) ARAPIs oIl Rigicai
sl aivoflyenddl saasal .
fisc):
(A) dclal (A) dial (R)ARIT B ial
(R)A (A)ofl 21101 a9l 8
(B) il (A) 210 (R) 14T 8 uig
(R)A (A)ofl ARN s%gdl atefl
(C) (A)AIY B AR D

(D) (A) WD B il (R)AR] 8



B

20.

21,

22,

Which of the following principles was

laid down by the Supreme Court in
A. K. Kraipak Vs. Union of India ?

(A) Rule of Law is embedded in Article 14
of the Constitution of India

(B) Judicial review is a part of basis
structure of the Constitution

(C) Principles of natural justice are
applicable to administrative
proceedings

(D) Post-decisional hearing would be
sufficient for the observance of
principles of natural justice

Which of the following is not a primary
source of International Law ?

(A) International Treaty

(B) Decision of International court of

Justice
(C) International custom

(D) General principles of law recognised

by civilised states

The admission of a new political entity
into the United Nations can be termed as

(A) express recognition
(B) conditional recognition
(C) collective recognition

(D) de-facto recognition

20.

21.

22.

ofld egficy V4 sl Pugid AdRY
dAeidd iy A8, 518US U3 eiRd
SRl ST MAUd saHi 1A 2

(A) CliRdoll GiEIRRI0N igRBE 1 ai
SiAElall QlRdotall vAIE JARA 8

(B) ouiftis YoRIAAISA A GiRdall
cigRRIcl YNeid Alovilell G B

(C) afbud] bl AAPTs oAl
Rigid) a1 us 8

(D) MNRiPIs cuRlcll Rugidll
uldd A2 ield sal olied
yogell  yadl  sn2nal.

oflA exilcalt Vsl s 0d
idndly siaelel JNeid
Ad odfl 7

(A) diarnda ik

(B) dianrndla oAidl
Beldaal [oiek
(C) viarrd 303

(D) apifRs A¥M &R avidiAi
219d1 SIuEIl Aoy Pgid)

AYsd A aidf) A%SlA
A¥Uloll udAa SA1 ol
Aavidiei 219 8 7

(A) csel aHlo¥dll
(B) 2Rd] 3ol
(C) sBia aloudl
(D) &Slsddll aloucll



e

23. Pacta Sunt Servanda means 23. ‘Usel Aoz Ados’ ol u¥ g A 7

(A) 2ifilad e offsel

(A) treaties are accepted in

2fIsRai 218 3
good faith '
(B) Rifu) & sd us
(B) treaties are revocable adl & 8
(C) =il e sl o usiy
(C) treaties are irrevocable adl & D
(D) treaties are not binding (D) AR cigasdl &
aiell
24. Which of the following is not an 24. YoullAA HlodAdl ANdl 3 flIA

i )
essential condition for the recognition ealeamaiiel sg ciicia Avlcell 2wra

sFrigni viadl ol ?
of belligerents ?

(A) Yaullk Adi Ayel wdelln
adl RN

(B) YewlAell tid2vdl
wallleldlal A€l

and will to undertake international sdldl if5d daiy g

aid]l ANgA

(A) The belligerent authority should be

an absolute sovereign

(B) Belligerents have the capacity

obligations

(C) A [H2Ag Ao 243Yal)
adl  gn

(C) Armed conflict should be of general

character

(D) YsullR sRI Azl AEEA
SIYPL U2 501% AN NYA

(D) Belligerents occupy and administer

a portion of national territory




B

25.

26.

Read the Assertion (A) and Reason (R)

and choose your answer using the codes

given below :

Assertion (A) : The General Assembly

is one of the principal organs which

consists of all the members of the United

Nations.

Reason (R) : The resolution or declaration

of the General Assembly are not binding

upon the states. They are merely

recommendations.

Codes :

(A) Both (A) and (R) are right and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are right and (R) is
not the correct explanation of (A)

(C) (A) is correct and (R) is wrong

(D) (A) is wrong and (R) is correct

What are the different modes of
settlement of legal disputes ?

i. Amicable means or pacific means of
settlement.

ii. Compulsive means or coercive
means of settlement.

iii. Intervention by a third State.

Choose your answer using the codes
given below.

Codes :

(A) only iis true

(B) only iiis true

(C) onlyiand ii are true
(

D) only iii is true

25.

26.

ofldal  [A2iAIcHs ol (A) Vial SRR
(R) dil 21 datid wdio oflA ANal
Riscloll 2AIER vl

for2izilcais Rigliol-(A) Alatiod AGH (Fotd
ANoel) A5 MY 2oL B 3 F AYsd
ol daild AeA €A B,
SREI-(R)AldIA AGHdll &AD U
AIRAN A¥AN Gur oigasd] aefl. d
A edRe) B,

fuscul:

(A) i (A) 2ia (R) 21 8 (R) A
(A ofl ARN Ay 8

(B) didl (A) 2a (R) ARI B a (R)AA)
ofl ANl Al a2l

(C) ()R] B uA(RWE B
(D) (A)WE B 2id (R)AR] B

sigell Ricidotl frarer el Rilke
SR sAul-53i B ?
i ifayel usR) WA udiaeedl

did ugld
i, 2% uIsdl / clooid] ERiddl

USRI

iii. sfkd A¥A &RI &AAY
aid wdiot oflAeti useail VER
ye 82

fise:

(A) 3t | AR B

(B) a i AR B

(C) atizt i ia i AR B
(D) A=t i AY B



i

27. What is true about extradition ? Choose | 27. YetdRL 2id g A 8 2 axd
your answer using the codes given qciol ofldoll [uscloll AEUR  URAE
below : 53,

i. Extradition is a process towards i, Yeudgt 2 dollgf €l SR
suppression of crime. desell ubal .

ii. Extradition acts as a warning to the il YR A AR At viad)
criminals that they can not escape Adaelzy d 3 Ao ey A
punishment by fleeing to another ool e Rauell wall 253 o

State. g R
ili. Extradition is based on reciprocity. - el 21 weriRsd Gu?
A;iEIRd 8.

iv. Crimin r rrendered as it . .
lv. Criminals are surre iv. jRouej e Aendier wa D sRel

safeguards the interest of the
territorial State. 8 d vl &8ldll [Ealof] 2211 53 8.
Riscu):

Codes : . . .
(A) only i and ii are correct (A) &t i e " 21124!
(B) 3ot ii Al i AR

(B) only ii and iii are correct (©) ot i, il =d iv Ak
(C) only i, ii and iv are correct D) i ii iii,%ia iv 211
(D) i, i, iii and iv are correct T

28. Match the List — | with List — Il and choose
your answer using the codes given below :

List -1 List -1l
a. Suspension of a 1. Article 75 of the
member from the  United Nations

28. A€l-1 A Awd-1l A1) NS 4
daR) wdiel ol ANd  sceil
AR uAE 5.

4Ll -1 a4l - I

United Nations

Charter

a. ysa wdaiell iy

—

. UYSd A U1l

b. Composition of 2. Article 6 of the doudll gy Al oS WY
the Trgsteesh:p United Nations b. gedlkllu siGodflcig] 2. 2iysd vy Uidaed
Council Charter 350l e §

c. Expulsionofa 3. Art!cle 61 qf the C. dysa wdaiel Hg 3. AYSd Wy UK
member from the  United Nations 21020f) oldzd] 2UgBE 51
United N‘a.tlons Ch_arter d. 20Ris 23 2ANWS 4, AYsd AN Ul

d. Composition of 4. Article 5 of the URvuEg 8ol VDE ¥
the Economic United Nations 3
and Social Council Charter 4scq):

Codes : a b ¢ d

a b c d A1 3 4 2

(A) 1 3 4 2 B) 4 1 2 3

B 4 1 2 3 C 2 1 3 4

€ 2 1 3 4 4

4 3 2 1 8 2 1

(D) (D)
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29.

Which of the following are true about
International Humanitarian Law ? Choose
your answer using the codes given below :

i. Humanitarian law is that body of law
which defines those principles and
rules which limit the use of violence
in times of war.

ii. International humanitarian law is a
branch of international law which

29.

i AHloadidlg]  slAeL 2
ool Vgl sy AR} B 7 axR
wdiol ofldeil Rusclaiell u:ie s2.
i, dcddicid] s A (el
A AYe 8 T Yedoh AHY
Baatoll Gut u2 aafel 2idlal
Pigid wuA o euld 8,

ii. siandla  Aleddiaidl SO

provides protection to human beings Aidwndla  sREl v 8

from the consequences of armed

conflicts.

iii. International humanitarian law is
applied with equal force to both sides
in the conflict irrespective of the fact
that who is the aggressor.

Codes :

HioiNal A2 ARl 518 Geoiud]
yRPafbai 2121 210 8.

iii. vidRgA AHladdaididl siIE
S\l Gaacidd] & A eAlolai
dlar gy Raieal oo
yaisRla dsAnfl da G
us 8,

. ; fuscul:
(A) only i and ii are correct (A) sl | ¥l i A
(B) only ii is correct (B) &t ii AR

C) only i and iii are correct
D) i, ii and iii are correct

(
(

(C) A1 i el il AR
(D) i, ii 2l iii AU

30. Which of the following are the challenges | 30. ol  exfear W8l s¢  diloid
of International Humanitarian Law ? didRngA  Aloadidd]  siuEn W2
Choose your answer using the codes yssiR3u  dny ? AR ¥diol

given below :

i. The protection of civilians against the
effects of hostilities.

ii. The use of explosive weapons in
populated areas.

iii. The protection of internally displaced
persons and persons with disabilities.

Codes :

(A) only i and ii are correct
(B) only ii and iii are correct
(C) i, ii and iii are correct
(D) None of the above

Risciiatiefl eNa dvil.
i, gotonideall 2R Rizg oRIRSlY

e2a1E]
i. R gxdl  gAddl AR
Riz§les &faRdel GuAI

iii. AiaRs Rzenfudl day
Audidioll Rafaai W a
afsa2ie 2

fuscu):

(A) Al i did i AU

(B) #13t ii Aal iii AU

(C) i, ii el iii AU

(D) Guzatiell 81 ailk
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31.

32.

In which of the circumstances an inchoate
instigation to commit a crime is said to be
incomplete ?

(A) When the purported crime is different
from that of instigation

(B) When the crime results through the
conspiracy of another person

(C) The person who instigated, withdrew
from the act after instigation

(D) The letter posted could not reach the
person so posted

Read the Assertion (A) and Reason (R)
carefully and choose the correct answer

using the codes given below :
Assertion (A) : Nothing is an offence
which is done by a person who, at the time
of doing it, by reason of unsoundness of
mind is incapable of knowing the exact
nature of the act.

Reason (R) : Mistake of fact is a good

defence and mistake of law is no defence.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are correct and (R)

is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

31, ool VSl sl ANNaAT el s:al

el AUYEl  Gadella
AlolciAl 4194 7

(A) AR sfid del Go¥2ell sl
A2 8l

(B) «uR 2ol ey cflddi SlddR]
SR uReia 8

(C) ¥ calda A 62wWefl Na &y da
G230l one g aie didl eyfisi

wd dldd 8.

ugdl

(D) } ABAA ya cuigidi UG Ay d
@lld Y d uaA ughaA o 8.

32. oflA ANd [a2AIHS [dia -(ARda

skl (R) €Alai®fl gl a  ofID
ANdl lsedol Guadl sd )
cdiol N,

Giaics  a-(A) A Y g
Jall clolg oi¥fl 3 ¥ Y calba sy
Sl WAA 8- A Hioifs

ARUdIA  SRA s kA
§cg] WY AAHYAl UL d §A

siel 3go 8 da vieldl AU

ER
sirRel-(R) &5l saell oja A AR oIy

8 ad s ed A Y Ry
oi¥fl.

Rsca:
(A) (A) 20 (R)oia 4RI B 240 (R)A
(A) oft ARN Azl B

(B) oia (A) 24 (R) 21ui B 14 (R),
(A) ofl ARN Ayl ot
€) ARy B «aiR (R)wdlg 8

(D) (A B wAR(R)AR] B
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33. Maitch the List — | with List — Il and choose
your answer using the codes given below :
List -1 List—1I
a. General Explanation 1. Section 45
of Life
b. Act of Judge when 2. Section 52
acting Judicially
c. Act of child under 3. Section 77
seven years of age
d. Explanation of 4. Section 82
good faith
Codes :
a b ¢ d
A1 2 3 4
B 2 4 1 3
e 1+ 3 4 2
Dy 4 3 2 A1

34.

Read the Assertion (A) and Reason (R)
and choose your answer using the codes
given below :

Assertion (A) : Participation in some
manner in the act constituting the offence
of common intention by all the persons
to be prosecuted is necessary.

Reason (R) : Physical presence at the
time of the commission of the crime is
not mandatory in all cases.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and R is
not the correct explanation of (A)

(C) (A) is true and (R) is false
(D) Both (A) and (R) are false

33. ¥ié-1

34.

a aid-1l A Aad) id
dd  ARN wdid ol wNdl
fiscaiefl uzie 8.

-1 1€-1l

a. MYeloli AlHIcA 1. §6dd wu
YYIE)

b. «% AR 2. SHA WR
o )M B
s s2d) 8N
QAR ddl §c

c. id avdl oiiofl 3. sd3d W
GaRoll ollnSg] S

d. ‘ye off’ 4, sG6A &
ofl a1l

scUr:

a b c¢ d

A) 1 2 3 4

B 2 4 1 3

€ 1 3 4 2

D) 4 3 2 1

A Nd (s i (A)

2a siRel (R) didl id daiRl wdiof

oflA 2Na uscaiel ude s.

fisRncHs  [dia- (A) A1 e

Ao YAEI  VgRIR  Aoll  Cleldll

st 1Y A enfedl sl /

el A A oed AW Had]

21GAS B,

SRRI-(R) : dait  ANNaAT Yol vicl]

63) 81A A AHA RPRs fld &R

22d 2ugas adl.

fuseul:

(A) dia (A) 2ia (R) AR B, 3a (R)
A (A)ofl ARN ayfa B

(B) cial (A) ia (R) i B 2d (R)A
(A)ofl ARA Aagler oell

(C) (A)AR] dAA(R) VI B

(D) cial (A) 210 (R)viei B
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35.

36.

. Attempt 2.

. Intention 3.

. Inchoate 4,

Match the Objectives with the Propositions
given below and choose your answer
using the codes :

Objective Proposition

. Preparation 1. ltdoes not act towards

the commission of the
offence
When preparation

merges itself with
attempt

‘Whaton’ says it is the

beginning but not
complete

Culprit commences to

crime do something

Codes :

(A) 1
(B) 4
(C) 2
(D) 4

N W= N
- A N w O
W = w h QO

“When an injury is intentional and
sufficient to cause death in the ordinary
course of nature and death foliows.”
— This statement falls in which of the
following categories ?

(A) Culpable homicide not amounting to
murder

(B) Attempt to murder
(C) Murder

(D) Attempt to commit suicide

35.

36.

oflA elda GEMa ydarend w18

A8 vad  RuscWaiel ARN  wvdio

urie s,

622N ydareiA

Quidl 1. 4 ol olddl d§
PRI geid cefl.

M2icof 2. ¥AR Ay ud
Wicol A1 3A B,

&g /g8 3. ‘@ed’ ol da uAIS d
AQuidl B uig yel adll.

Ayel dell 4. JydoIR SYs sl
A3Id 53 B.

fuse:

a b ¢ d

A) 1 2 3 4

B) 4 1 2 3

Cc 2 3 4 1

o)y 4 2 1 3

“oRiR gyl BRAEYAds SJFi A

ga 3 ¥ Aey  sHAT Y
Brusagar a2 wdl & wad d
ygui uRewl’ - w1 Riga ol
el Vslofl s¢ sanni wWAG Y

8 7
(A) v oft A9 AU Uopral

(B) viotall M2Acol
(C) U

(D) licHEclol MAcol
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37.

38.

Under Section 102 IPC, the Right to

private defence of the body

(A) Commences only when the assault
is acthally done and continues after
the assailant has left

Commences as soon as a reasonable
apprehension of danger to the body
arises and continues as long as that
apprehension continues
Commences as soon as a reasonable
apprehension of danger to the body
arises and continues even after the
apprehension ceases

(D) Commences only when the assault
is actually done and continues during

the period of assault

Sexual harassment and punishment for
sexual harassment is provided under

which Section of IPC ?
(A) Section 354A

(B) Section 354B

(C) Section 375

(D) Section 509

37.

38.

eirdly  Q¥er’dl wreedl seAd 102
3ol UfRa vilodl oMt AfisR

(A) WRAR viduiR gAHCl Sl e 81
QIR A3 U1y B vid gHAEIVR0i A1
ugl uig 2@ B

(B) ik AR U g AN fasll
qrevefl e32id Gell € d 218 U3
Y1 B via i £3%Ua UG A 3l
yell uig 2@ B

(C) ¥ Uk yel Y Nvia Qdisl
grvefl €821a Gefl &R A 21 U3
g D Aol 2 €8 Yf YAl clie
yel ulg W 8

(D) R VRVR gadl sl 1A AR ¥
A3 AR B Via Wiyl §Adliall
AHAAIN EAHAlol UG W\ B

cirdla filveidl aRridl  s¢  sax
didla Adie va il Aqiel)

3 Aioll Doy A B 7
(A) sad 3uy (A)

(B) saa 3uv (B)

(C) saa 3wy

(D) 50 o€
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39.

40.

Which of the following is correct ?

(A) There is a rebuttable presumption of
fact that accused was insane at the

time of commission of offence

(B) Itis a matter of inference to be drawn
by the court on the facts proved by

the prosecution

(C) The burden of proof that the accused
was not an insane at the time of
commission of the offence is on the

accused

(D) The burden of proving that the
accused was insane at the time of
commission of offencelis on the

accused

Which Section of the Indian Penal Code
deal with “punishment for causing death
or resulting in persistent vegetative state

of victim > ?

(A) Section 376 A
(B) Section 376 B
(C) Section 376 C

(D) Section 376 D

39. oflA ealfcur Vsl sy Rictiot w3 & 7

(A) AR dell ool AHA AURYUR
ool &) dg visol s sk
dqd ydioaia 8¢ 8

(B) §R1d] uai dg¥l WRaRr sy
2Ad &dlsd) el veIdd SR
digiiol 53 s Ad] ciicia B

(C) ] 3ol clol AHA VR Aol
gdd) o &dl d§ YAR SAla)
eir 2Rl GuR B 8

(D) 2RN] o) ol AHA AU HiclA
g4l &dl dg YRAR Sl GIR
Rl 6w RBd B

40. oirdly  slweldl dRridl sY  sda

Yoy fruaigar A’ wAdl 6ol

GlolalRicil Add  d€dl  AleidAAi

URguatall 243 Axiefl NdAcg €09 & 2

(A) sdd 395 ¥
(B) sda 3095 of
(C) saAn 39S s

(D) sdd 39S S
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41. For the defence of ‘Consent’ to be 41. ‘dala’ ol olRulg MU sdl A2

available

(A) elfol ualuISalIR §c ¥ 412 2iala
2] sy A doll Hafer st
AP %Y AS

(B) &ifet udlAISalR §cA T iR Aailc
] usiyg A ddl alel sl

(A) the act causing the harm may go
beyond the limit of what has been
consented

(B) the actcausingthe harmunder special
circumstances may go beyond the

limit of what has been consented AP Rikive ANNAT ¥ B
(C) the act causing the harm must not (C) &l udUISalR §ed ¥ A2 Aal
go beyond the limit of what has been 2l 2usig Ay ddll el sl
consented AP ¥G of ¥ NIA
(D) all the above (D) GuAsd daiA

42. Foran ‘action of nuisance’ defendantcan | 42. Gusddl gca a2 ufiadl oA
eAldd olaudl vl 2.

put at the following defence
a. ¥l d &g A2 AdY &dl,

a. The place is suitable for the purpose.
b. d g ST WdloRll 851

b. Itis done under ‘Statutory Authority’. seqii 2104 &g

c. Plaintiff coming to ‘Nuisance’. c. qid]l BGuguai ool eiwd B,
d. ltis for public good. d. 3 «ide Ma a2 d.

(A) a, b and d are correct (A) a,b 20 d AR B

(B) b, ¢ and d are correct (B) b, c 2 d AU B

(C) a, c and d are correct €) a,ca d AR B

(D) b and ¢ are correct (D) b 2ia C AR 8
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43.

44,

45.

Which one of the following is not a

slander ?

(A) Spoken words
(B) Gestures

C) Cinema film

(
(D) Both (B) and (C)

Read the Assertion (A) and Reason (R)
and choose your answer from the codes

given below :

Assertion (A) : The Supreme Court
evolved a new rule creating ‘Absolute
Liability’ for the harm caused by dangerous
substances.

Reason (R) : The ‘Absolute Liability
Rule’ will not be subject to any of the
exception recognised under the ‘Strict
Liability Rule’.

Codes :

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are true but (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

The first case on ‘Test of Directress’ is
(A) Hughes V. Lord Advocate

(B) Smith V. London and Southem Rly. Co.
(C) Stanley V. Powell

43.

44,

45,

ol &l V4l s¢ oiloid
‘viygyal’ ol d1eny 7

(A) odddl 2AcE)
(B) &geid

(C) ualus

(D) ¢ial (B)14(C)

ol 21Nd [e2a1c25 Rigiial (A) el
sl (R) i) 210 dAR)  wdiol oflAall

R[scaiell yie s2:

A=44icas Rgiol (A): AdRU  Eidd
SR AuH sRs dcdldl AER &Ad
gsaiel]l A Adyel Faiced]’ o
Rigid waIfid sa3i 2119d) B.
srel (R) (gl vdiciedla [,
Yrd vaicierol frasi” 2aviadmi

AGdi gyl UGl 21kl
e JfE.
f?-lsc-nh:

(A) (A1 B wig(R)vi¢ &

(B) (A)vi¢ & wig(R)2Rj 8

(C) cial (A)=ial (R) 2RI & uig (R)
A (A) ofl ARN AAYdl uer 8

(D) oia (A) 219 (R) ARui 8 uig (R)
A(A) ol A1RMN A2l iy oiell

‘Uc2idiofl 5AE° Ucholl 218 U
8

(A) &YV Rizg 1S IsAqi8e

(B) @y (434 dsol Aes A8l 3¢ susll

(C) Rodl RRe NAd

(D) Bind V. Jones (D) cligos RiRg o
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46.

47.

The driver of a vehicle committed an
accident and injured the third party. The
vehicle is insured but the driver's driving

licence expired. Find the correct option.

(A) The insurance company is not liable

to the third party

(B) The insurance company is liable to

the third party

(C) The insurance company is not
liable to third party but liable only
to the owner of the vehicie when he

incurred any loss

(D) None of the above

John purchased a washing machine at
Mumbai. He stays at Delhi. The washing
machine is defective and he complained
to the company for replacement of the
machine for which the company not
responded. Under Consumer Protection

Act, 2019, John canfileacasein _____
(A) Mumbai only

(B) Delhi only

(C) Both in Mumbai and Delhi

(D) None of the above

46.

47.

digoioll UIAS st DISAWIA SR

A v qdi 2ifdd  yasSRa

oslel @Ry, diseiol dla Adiai

24 B uig digel Ulcse giegdla

digaied Adnd &dda . «{QAeu Usl
AwA  [Qseu .
(A) dlait sudfl Hfkd UASRA YUIGER

A afk
B) <Nt Sudll ifka vaisRa ¥diciER

SETR

(C) dlai Suefl ifkd uaisRa YdIGER
12N oifk udg HIA digoall IS
AIGER dRNA WAR  dad  §iY
ojs2llel 2Ac BN

(D) Guzaiel Y alk

¥Ra oigeti ARia ANt wdly, d

RRaxi 22 8. ARial #2Mat vitafl aig] B
25 A Sudla  ARidfla  cledl
gl 22 sRaie 2 B, sudl 4
23 8¢ ulieiia viudl a8, 2u8s
2 WIRL WE 36N ¥Elol 5

sRale sl usA 7

(A) #I2A AHoAi

(B) 3o fEedlai

(C) cid ¥oigf ia [edlai
(D) Guwniel 81 « qllk
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48. The main supporter of the theory, that | 48. 21 Rigid 3 A ‘ugcaed siA’ B
ua  ‘vugla) s1A8°  oefl  doll
Hua AAds S B ?

‘itis a law of Tort’ and ‘not law of Torts' is

(A) Winfied A Riadles
(B) Salmond | (B) 2liais
(C) Fleming (©) sabio
(D) Dias (D) i

49. As per the provisions of the Competition | 49. 2yl uRufeu w02 ol ANdrdig

Act, 2002, which of the following is not YRR oAl U8l sy cziel 513
(AuilRA / Beuiedlall  3isa) o
IR @RI of dARIA ?

essential ingredient of a cartel ?

(A) Existence of an arrangement

or understanding between the (A) ultRuds) aAell 91 sNsdel 3
competitions awﬂaﬂ 2ifedcd
(B) Agreement amongst producers, (B) Gecuigd), [aRs), duiel seirRiA,

uidlA) 3 Adl Y3 yisdRRA
4 YA WA wd 3 vASK
providers i.e. parties are engaged in RN§ Aol viedl A5 HIEAIHIol

identical or similar trade of goods or Audiell 3 A yd wisaiel ugla
A AsnRdl 8

sellers, distributors, traders or service

provisions of service

(C) S0 8g HickAIHIsl 3 Aol
Gediediati, Riazeiai, QIR 5
@il U g2 ¥sdloll Micol

sale or price of or trade in goods or sqlol 3 dal Hallta s2dia) DY

provisions of service

(C) Agreement aims to limit or attempt

to control the production distribution, |

(D) Moi: Quielofl Baddl «1agell
(D) Resale price maintenance 53410l 522

agreement
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50.

51.

In which of the following landmark
judgement, the hon’ble Supreme Court
observed that the competition law is a
mechanism to counter cross boarder
economic terrorism therefore, eventhough
an agreement which is entered into
outside the territorial jurisdiction of the
commission but if it results in affecting
adversely to the competition within India,
the commission has the jurisdiction to
pass appropriate orders ?

(A) Haridas Exports V. All India Float
Glass Manufacturers Association

(B) Om Prakash V. Central Bureau of
Narcotics, Ministry of Finance and
others

(C) Lucknow Development Authority V.
M. K. Gupta

(D) Morgan Stanley Mutual Fund V.
Kartick Das

In ‘Law relating to contract made through

post’

(A) The communication of acceptance is
complete as against the offeror only
when it is received by the offeror

(B) The communication of acceptance
is complete when the letter of
acceptance is read by the offeror

(C) When the communication of
acceptance is put into the course
of transmission i.e. put it in the
post box

(D) All the above

50. oflA exfudi Vo s H6cdoll ol

51.

Aoelly  AGRU  wEIAd KR AY
suaqpi e 3 udl wifiloan A
M6 Aol IR idsdIE o
d@sd iudiell slsdel 8 adl A
g s 2irRdfl Aueél sxHadll
¢iglk sl A &Y uig d
eiRdai 2uula ddlaual dd ulign
AR 8lA Al dal AFPNAT ARG
Ay gsAl AR sidll Adl 1]

B.
(A) eRert As2& u3e 2Md dlosau

gAle 2Rl Aoy3suR Mo
2 usit fi3g Aogd oY g

AsRsu , HloflRdl g gidatioy
ia Vo
duiel 3ddudez WAL Rize

3.0l
Mofol 22ocll 3PRY2A §5 [U3e
sifds e

(B)

(©)

(D)

Yol  qUsR  &RI SWlMi AUl

SAA ddIdl SIRIEI MAHIQ)

(A) EuiRdER Ru3e 2dIsRd] 2dgo
AR EIRAER 1 1SR sa
AN 2 Yol 8Ad AR

(B) ¥R EUIRAEIR iRl 1§l i
giuaii 213 AR AllsiRg A4
8Ad A1

(C) «waik 1ligltig] 2Adge uARCWH YSI
Y2 ya WRe s, AR &Ad
a1

(D) BuAsd daid
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52.

53.

54.

A lends a horse, which he doesn’t knows
to be vicious, to B. The horse runs away
and B is thrown and injured

(A) Ais responsible to B for damage
sustained

(B) Ais notresponsible to B for damage
sustained

(C) A is responsible to B for
damage sustained under special
circumstances ’

(D) None of the above

Which Sections of Indian Contract
Act, 1872 deal with ‘Appropriation of
Payments’ ?

(A) Sections 73 - 75
(B) Sections 30 - 36
(C) Sections 59 — 61

(D) Sections 68 — 72

When there is a breach of stipulation
which is a condition in a contract of sale,
the aggrieved party

(A) Cannot repudiate the contract but
can claim damages

(B) Cannot repudiate the contract and
also cannot claim damages

(C) Can repudiate the contract and also
can claim damages also

(D) None of the above

52. ‘U’ Uldia) NS ‘o’ ol AN & ol
‘AU a A diddl il ol 3 DS
g2 8. A9 il v B ud ‘o’

ydl ¥ 9. did gl U B,

(A) U’ ‘of'dl eAd g1 HIZ ¥UIGER
s

(B) ‘¥’ ‘oP ol 4Ad &1 HIZ FUIGER

STEE I
(C) ‘o’ ‘of ol &Act o A2 RaRe

yRRafdai vaieier aend
(D) Gueiieh Y oilk

eiRdlA s21R €1R) 1¢wr ol 5Y 563
AUgsN oy Ygaefi
(FnNRuAol g VAo2) A1

Asndd d 17
(A) sad w3 ol wy

53.

(B) sed 30 &l 3§
(C) saa ve &l s

(D) san s¢ ol W

%R JUILIe] SAW Wd &y ad)
clicidoll @idl &Ry A A4l ANNAHI
<¥d vaisr

54.

(A) s2R 2% 8¢ of U3 uig
aisellete] AR Hjof) UZ

(B) SR € of 88 U3 al gisAlal
qadR. vyer didfl o ud

(C) SR 2w Y 5 U3 id ofsllai
qadR yer aiofl us

(D) Guaiell R % aill
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55. Partnership Agreement
(A) may be oral
(B) may be in writing
(C) may be implied
(D) all the above

56. In every year a company must conduct
minimum of

(A) Six Board meetings
(B) Five Board meetings
(C) Four Board meetings

(D) Two Board meetings

57. Maitch List — | with List — Il and indicate
the correct answer using the codes given

below :

List -1 List -1l
a. Consideration i. Section 56
b. Free consent ii. Section 13
c. Frustration iii. Section 2(d)

d. Consensus ad idem iv. Section 14

Codes :

a b c d
(A) it i v
B) i v i i
(C) i v i i
(D) iv i i ii

55. alirfleidlol sAR
(A) s ayg us

(B) ARfuaai 81y us
(C) aidid &y s

(D) BuyAsd dai

56. uAs qfati suoll st e AN
(A) ® oi§ Al Axdl us
(B) uia DS afldlar Avedl usA
(C) ur o A vl us
(D) & oi§ fldla Mewcll us

57. Aidl-1 ol -1l A NS id
fiscllell Guddl 53 AR vdIo
yRie sA:
aél-1 21811
a. Ay i. 544 u§
b. ysd Aafd i. 543 13
C. sl [eivgnal iii. saa Al
d. Afal iv. SEH 1Y
Riscul:

a b ¢ d
(A) i i v
B) i v i il
©) Qi v i
©) v i i i
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58.

59.

Read Assertion (A) and Reason (R) and
give correct answer with the help of the
codes given below :

Assertion (A) : Payment made by
mistake can be recovered.

Reason (R) : No one can become rich
at the cost of others.

Codes :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(C) (A) is false but (R) is true

(D) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

Which of the following statements come
under ‘Agreements Opposed to Public
Policy’ ?
i. Agreements interfering with marital
rights.
ii. Trading with an alien enemy.
iii. Agreements to do impossible acts.
iv. Agreements to oust the jurisdiction
of a court.
Codes :
(A) v, ii, iii, i
(B) i, ii, iv
(C) i, i, iii
(D) iii, iv

58.

59.

frsRiicHs [Yelot- (A) vad  sRI (R)
qidl vad olA wNdl  Risedon
icoll 28 wgiel AN

s [ueiot (A): ejgell saai
21ad) ysaell o gyaia sdl usi.

siRel (R): 1Y <alld oot WA
AYa ol U3 Jlk.

SEINE
(A) (A)uii 8 uig(R)vg B

(B) ¢l (A) uxal (R) AR B idl (R)A (A)
ofl 2ARN vaygfa 8

(C) (A) vii§ 8 uig (R) AR 8

(D) cla (A) 21a (R) ARK & uig (R) A
(A) ofl A1RM Axydl a2l

oflA eulda V) sy Rea MER AR
Rizgioll SAA AN 7

i. Qaifks kA 82dAY s
8AA

i R2efl goaal A1A AR

iii. AsY SIRA SAWlA) 5A

iv. dlelddofl 853d €2 Salol) AR
Riseu:

(A) v, i, iii, i
(B) i, ii, iv
(C) i, il, ii

(D) iii, iv
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60. Which of the following combinations are

61.

correctly matched ?

i. An agreement without consideration

is void — Section 28 of the Indian
Contract Act, 1872

ii. Balfour V. Balfour — Social
agreement

iii. Unilateral mistake — Generally
agreement is valid

iv. Undue influence — Section 16 of the
Indian Contract Act, 1872

Codes :
(A) iii and iv are correct
(B) i, ii and iii are correct

(D) i, ii and iv are correct

Match List — | with List — Il and select the
correct answer using the codes below :

List -1 List-1i
. Harbhajan V. Brij a. Desertion
Devarayan V. b. Dower death
Muthuswamy

Kapoorchand c. Concealment
V. Kadarussia of un-chastity
Sadhu Singh d. Agreement to
V. Jagadish marry
Codes :

1 2 3 4

(A) a ¢ b

B) b d a ¢

() c d b a

D) a ¢ b d

60. o1 exfda Vsl sl A vol) A2

61.

Aa N3l B 2

i. QY olRell SAR Wolidd ARNY
~ eiRdlA 8AR WA 1¢92qll
sddH ¢

il olesr M3g olles — MAIDS
Adgfa

iii. Asyelly od — Ao Ad s
dHloY dIRNY

iv. 2 @IdIa9) — eIRdRI sAR
uRl 192+l se as

fusey:

(A) iii vl iv AIRY B
(B) i, ii el iii AR B
(D) i, ii val ivARI B

a1d)-1 A -1l A A0 al
ofldoil Risc) atiefl ARN Risey uRie
s:

adl-1 A€l-l

. goivol g R a. cua

AR fze b. €% ¥4
Hazad]

syde [iRe c. iulysial/
3eiRil URAL guIag
Aighic kize d. @l Vel 8AR
LE T
Riscd:

1 2 3 4
(A d a ¢ b
B b d a ¢
€ c d b a
@) a ¢ b d
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62. Read Assertion (A) and Reason (R)and | 62. [aisiicas [eiiol- (A)2ial sREI (R)

give correct answer with the help of the qil va A 2Na  Riscdlal
codes given below : v eoldi AN wagiol );
Assertion (A) : An adoption validly made oraticeis eiel (A): 10y Ad saii
cannot be cancelled by the adopter, AAd Eds Ridioidt Eds Aok iR,
natural parents or any other person. geadl aldi-fual skl xREal oy
Reason (R) : An adopted child can again figyer calba grl e s usR
be given in adoption. oifk ]
| s5RE (R): evisul 2VRG  oling
Codes : glell easai und) usi.
(A) (A) is wrong but (R) is right Riscq):
(B) (A) is right but (R) is wrong (A) (A B uig (R 3
(C) Both (A) and (R) are wrong ((g»; ({\; Z:\')ﬂ :(;f%(ﬁ)gé 8
. o L vilgi

(D) Both (A) and (R) are right (D) oidt (A) 24 (R) 211l D

63. Read Assertion (A) and Reason (R) and | 63. [t&icus Rigiial (A) 21d sRe1 (R) 9iR))
give correct answer with the help of the da o)} Aal  sedal dAIER
codes given below : ARN wdiel @il
Assertion (A) : An illegitimate child Gisaicns Rigiol (A) © 2l ollng
is not entitled to succeed his father's Udiell  fiaiell  AeafHesaai

coparcenary property. RAER  Goldl A2 ESSER a¥f).

Reason (R) : But under the law, skRRl (R): uig siel uad
illegitimate child is deemed to be AR sins Wdiofl aidl A1
related by illegitimate kinship to their A Adyiel] 2Acifia Adig
mother. dlofl Aqiai 219 8,

Codes : fscO:

(A) (A) and (R) both are wrong (A) (A) 249 (R) cidl wia1 B

(B) (A) is correct but (R) is wrong (B) (A)A1R] 8 uig (R)viig B

(C) Both (A) and (R) are correct (C) cial (A) 21ial (R) 21141 B
(D) (A) is wrong but (R) is correct (D) (A)vig B uig (R)aRf B
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64.

65.

66.

Under Hanafi Law of inheritance the
shares are

(A) Eight in number
(B) Ten in number
(C) Six in number

(D) Twelve in number

When two persons have the same mother
but different fathers, they are said to be

related to each other by
(A) Half blood

(B) Full blood

(C) Uterine blood

(D) Agnate

Under ‘Hiba’

(A) Delivery of subject matter of gift is
necessary but acceptance of gift is
unnecessary

(B) Delivery of subject matter of gift is

not necessary but acceptance of gift

is necessary

Delivery of subject matter of gift
and acceptance of gift both are not
necessary
Delivery of subject matter of gift
and acceptance of gift both are
necessary

64.

65.

66.

&oifl SLAEL VojUR UtALell

%2G cuoL dluA 87

(A) 21I8

(B) €

(C) ®

(D) ©IR

oy A 2ABada wdle Aldl &Y
Uig Rudi @2 vd@d 8 @R
a0 Asofleviel sAN AdAYRIAT SIRIY?
(A) ¢l 8d

(B) yel 2sd
(C) udler 28a (YHdicas)

(D) A2

‘Botl’ M

(A) @zoll funy grgdll Aluell ¥3d 8
uid dai) 2ddlsiz %3 ol

(B) @eofl Ryvazgoll 2Alueh ¥3d «ell
uiq Aol dIsk ¥3dl 8

(C) @eell funuargoll el uia 2lsi
oid %33 oiell

(D) Reoll Rinva agell Aluell 21a dell
2dIsRkR cid «43dl B
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67.

68.

69.

70.

An alienation of minor’s property by the
guardian without the permission of the
court is

(A) Void

(B) Valid

(C) Voidable at the option of the minor
(D) Void ab initio

lllegitimate child under Hindu law _____

(A) Cannot inherit the separate property
of his father

(B) Can inherit to the claim on the
coparcenary interest of his father

(C) Can inherit to the separate property
of his father

(D) All the above

Under the Hindu Succession Act, 1956
‘Father’ is a

(A) Class I heir
(B) Class Il heir
(C) Agnate

(D) Cognate

Under Muslim law, the daughter takes the
share in the estate of a deceased parent,
when

(A) there is no mother
(B) there is no father
(C) there is no son

(D) there is no daughter

67.

68.

69.

70.

CSEIER]
sud)

Aelddell  udleidfl ol
Bicsdell  Qoy il g2

G2
(A) zeolldd

(B) A B

(C) ARetl R4scu MAIR) 2EGIdE 524
u 8

(D) aziiddley eciidd 8

bog, sIAEI VigAR R GlIlNNS
(A) Wdiall Rudidfl ad> [iesdol aR:)
arel s? U3 Jlk

(B) Waieil Ruaidfl wiRaiRs 2Aulaai ess
qrRABI grel 58 U3

(C) Wetiall Rictiell 2qd>t Ricsa a1l
arel s s

(D) BYASA dxIAH

[og aruIfisr giR),1cus 8501 Rudl

(A) g3 1 4R SRR
(B)

(C) Rug vall sy
(D) ag uell s

93] 2 9dRA ALY

HRAH SI—IEL HefAR oflAoll ANNati
Esdl ycy wiAal Aidi/Ryiof)
Riesdai eior Aad] U3

(A) WAR 3idl &AId o &Y
(B) AR Rdl &Ald o &
(C) ¥R 8 Yol o 8
(

D) «’R 8¢ YAl o 8l

T e
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71. Match the following codes :

1.

Disposal of bio-medical waste in
various hospitals and nursing homes
are to be periodically checked by
SPCB under Section 6, 8 and 25
of the Environment Protection Act,
1986.

. There is a need to evolve national

policy to protect national interests
from ultra-hazardous pursuits of
economic gain.

. The pollution control board and its

officers are free and competent
to take action against any person
on violating any provisions of the
environmental laws. They need not
wait for any direction of the court for
taking action under the law.

. Thedirection given by the environment

pollution (prevention and control)
authority constituted under Section 3
of the Environment Protection Act
are final and binding on all persons
and organisations concerned and are
bound to follow the same.

Maitree Sanand V. State of Orissa
(2007) Cut LT 191

Union Carbide Corporation V. Union
of India AIR 1990 SC 273

Suo Motu V. Vatva Industries
Association AIR 2000 Guj. 33

d. M.C. Mehta V. Union of India, AIR
2002 SC 1696

Codes :
1 2 3 4

A b ¢ d a

B a b ¢ d

(C) c d a b

Ddyd a b ¢

71. «sst NS

1.

AU MENE! [orRisie ds sl
yafqel ddde Rl 1ees ol saa
§, ¢ ¥a Wdl NaAwgA JgRiR

Ritia  afeyedl day  RPAYA

Aiefl sl dal Fu-RiEAMs
sUAcll fisid U AAAIdR AW
sAadl N,

s dier Aagdl adl scid
ilisies ugfuanefl gl B

2l A2 AR ofiftell el scuell
A19esAdl Bcvodl 8AG B,

ugyel [oRisiel disa day dall
ARusilAN ualael siueld Geduo
sk @fsal  R¢ uvAdi  Qal
AdA via uzH B, d¥NA  vidi
yadi  eRdl M2 dEdd  darsd]
saal faiZidfl Ae Ndidll gl
ol

yafazel b @R S6H-3
850 Ui G vAfdRRl ugNRl
(FBarRl 2ia 2iga) 2Adl dsn iR
wydpti A1d oE) v 29
daln abadl  dax ARG
citioisd] & wa d¥ do i
Sql FYIGER B,

WAl Wele Rz 20DRRA A
(R00w) CutLT 1€1

Yfota sicifgs  SlURa  fUze
éilRd ABR AIR 16€0 Y.5.203
Y Mg Rize dgedl gosds
AA1A1A201 AIRR0 00 YRAd 33

Aa.A.H8dl g GIRA MR
AIR 2002 .8l 19€C§

fuscu):

(A)
(B)
(C)
(D)

1

O OTON
oomo0 aWw
O T o m &

b
a
c
d
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72.

73.

Which environmental legislation in India
makes it mandatory to get the prior
approval of the Central Government for
diversion of forest land for non-forestry
purposes ?

(A) Indian Forests Act, 1927

(B) Environment Protection Act, 1986

(C) Forest Conservation Act, 1980

(D) Scheduled Caste and other Traditional
Forest Dwellers (Recognition of

Forest Rights) Act, 2006

Movement of hazardous waste from or

to the country is considered illegal if

(A) It is without authorisation from the
concerned SPCB

(B) It is without prior permission of the
Director General Custbms

(C) It does not conform to the shipping

details provided in the document

(D) It is without prior permission of

CPCB

72.

73.

sl  ualdr  dafl sie
doidti Bl allatel  dox  GUA)
fraol ugfdn a2 3uidR sal
HIZ Sog AwWRl yd aigdl Aaud

YA Gdlld B 7

cliRdai

(A) eirdld qo vl 1c0

(B) wafuwn udoa @1 1e¢s

(C) dou 2Aaelal €N 1cco

(D) 2igfud ¥l iad o
qaiqiflN (det 2iflisiza
2iIdaiR) YRl 00§

eaiefl 8 i afoisis surg

EGY UGl SRSIALAUR 2RI IAH]

192 )

(A) Q AYY UEHERI ViGU AN &R
Wwdlell una sAT Rl 81

(B) d si3se? oA g s2aell yd
Hydl ol BN

(C) d exaildvai exfgaiai wddl 3\l
Rl 218 RAd2a of QY

(D) Q 3loga ugNel 2igu dsuoll
wdladll una sAT ol BN
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74,

75.

Which of the following was the first
environmental case wherein the hon’ble
Supreme Court held that no municipality
could put forth lack of money as a ground
for not discharging its primary duty of
looking after the health and safety of its
residents ?

(A) Municipal Council, Ratlam V.
Vardhichand AIR 1980 SC 1629

(B) T. Damodar Rao V. Municipal
Corporation of Hyderabad AIR 1987
AP 171

(C) A. P. Pollution Control Board V.
M.V. Nayudu - AIR 1992 SC 812

(D) V.LakshmipathyV. State of Karnataka
- AIR 1992 Kar. 57

16 September is celebrated every
year as the International Day for
preservation of the ozone layer because
it commemorates the date of signing of

on substances that deplete

the ozone layer.

(A) Geneva Convention
(B) Montreal Convention
(C) Marrakesh Convention

(D) Kyoto Protocol

74,

75.

oMlA exfdd Vel A 5D AduH
34 &dl 3 i Adoblla AR
AEIAd 4RI WG sAYAi 2dg 3
Sguel  odrRuIlSI Uididl 8]l
241288 ol AdRdl Ycdefl Wdlofl
uiafs s o [delddie  sREI

divliofl vea andl s «ld.

(A) dci RYfifauia si8ela Rize
qeflRie AIR 1€¢o y.8l.a5R€

(B) d.exle ua Rige Beavne Y
SiiReiet AIR 1ecu- AYyZa 11

(C) gy ughia fRier oS e
Aa.dlaiag - AIR 1€€-Y.H.CR

(D) dazfluft Rize seles ava AIR
1eeR selles vo

uds 9y g ol 2ARcReN [ta
21 %\olall el 2idail
didndAlte o3 Gwagnti 9
8. 8RRl 3 A fEaAy ANMNal A1404AHI
228! sl dcd)l  2idall

U2 A8l sal 2idddl Gvaelled yus
a2 8.

AIYRlall

(A) Doflal uRNe
(B) ModlAc ulwe
(C) #u3u uRvNe

(D) w03 AIRAIRABAI
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76.

77.

78.

The UDHR (Universal Declaration of

Human Rights) is

(A) Natural standard of achievement for
all peoples and all nations

(B) Mandatory standard of achievement
for all people and all nations

(C) A common standard of achievement
for all people and all nations

(D) Abinding document for all democratic

countries

The General Assembly established
the office of the United Nations High

Commissioner for Refugees in the year
(A) 1946
(B) 1947
(C) 1949
(D) 1951

According to Preamble of the International
Covenant on Economic, Social and
Cultural Rights, the equal and inlienable
rights of all members of the human family
are derived from

(A) The equality of being born on earth

(B) The social status of the person

(C) The living standards and heritage of
concerned country

(D) The inherent dignity of human
person

76.

77.

78.

diaid ks 203 g 232

(yloraic Bsdtia g &yt

ATYU)

(A) asis d18) va 2N A2 Rilgoell
Rilis aked 8

(B) daii A8l ial 22N 312 Rilgat
RYAId aReN 8

(C) daid IS 2ia g arR Rillgor
Aidloy gRrkeN 8

(D) daid disengl 2 AR cigasal
gdidy 8

oA AAaoicdl (ARIcA AGH) SR
Yolleds aioRm &l ShialR  §R
YA (BRIl a2 iysd g
G RA1) ol Well sA a¥ai
st 2id] 7

(A) 1€¥S

(B) 1€wY

(C) aeve

(D) 1€y

21if¥s, A1H1DS Via Aiglis RS
2idlell BicRGA ARt VY HigRAIR
dHiold URURell ddHIH AGAali Aalol
a8l %el o wisl s ddi wfkusk
il und iy 8,

(A) yedluz sl usiR wor QU]

(B) <afkdoil 14105 €% 18l
(C) R-d Aol VUoteRWRI Aoy d1A1e]]

(D) <fbdell vonid aisia siRanel]
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79.

80.

81.

In which of the following cases the
Supreme Court observed that the
declaration has the international
recognition as moral code of conduct
having been adopted by the General
Assembly of the United Nations ?

(A) Keshavananda Bharti V. State of
Kerala

(B) Vishakha V. State of Rajasthan

(C) Kishorchand V. State of Himachal
Pradesh

(D) Chairman Railway Board V.
Chandrima Das

Who among the following Indian judges
was appointed as adhoc judge in specific
disputes in the International Court of
Justice ?

A) Mr. M.C. Chagla

(

(B) Mr. Benegal Rau
(C) Mr. Nagendra Singh
(

D) Mr. Raghunandan Pathak

Which of the following order is passed
by the court to restrain the defendant
from disposing of assets which may be
required to satisfy plaintiff's claim or
removing them from the jurisdiction of
the court ?

A) Mareva injunction

(

(B) John Doe order
(C) Anton Pillar order
(

D) Temporary injunction under order 39
of CPC

79.

80.

81.

Mot VA su BAaai AR
ueldd sl NG sAAdHi Ay 3

Bsdd (=g 32) *AYsd
el ARIA A R lgd
s23d Als YR a3 viad
Aau gAd B,

(A) 3rudidie oiRdl Rizg 3d A%
(B) Ruzivil igg ANAUlel A%

(C) MaRaie Rizg [BaRua M A¥A
(D) 2R, 3A NS Ruze Alai e

o1 exifeatt V) st eirdla ¥oral oAl
idndy vedd (Jozdtiod HE
g ) i sHuAIG ¥ ail3
AssA vid Rz i [Hae)s
vai wddl ?

(A) 20l 1.1, uriEl
(B) 2l Qdad A6

(C) #fl odog [Rie

(D) ol *Woicdl WIGS

qiddal Wdloll eidiol 2Adi A2 ¥l
Bla adl Biesdlel feisid sl
ulaaidla Asar AR waal  dadl
Picsql iciddell e5dd clgrR vidsal
Asdl AR veldd s oA el
U] s gsA UAR SARAI 4 ?
(A) ‘aiRal’ aAdlg §sSH

(B) %&ld Sl. g5

(C) ‘Vloed a2’ g5

) AUl 212 3¢ Y¥ol SIHUG
Holl gsH

R R
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82. Following is the landmark case in India
for understanding idea-expression
dichotomy for the copyright protection.

(A) Bharat Matrimony V. People
Interactive Limited

(B) Amarnath Sehgal V. Union of India |
(C) Estern Book Co. V. D. B. Modak
(D) R. G. Anand V. Delux Films

83. Under Section 84 of the Patents Act,
1970, a compulsory license for a patent
can be granted after

(A) 4 years from the date of sealing of
patent

(B) 3 years from the date of sealing of
patent

(C) 1 year from the date of sealing of
patent

(D) Anytime after the grant of patent

84. Dr. Plato has found during his research
that the roots of jamun tree can be used
to cure diabetes.

Dr. Plato files for a patent for his research.
In light of Patent Act, 1970, which of the
following is correct ?

(A) Theresearchis not patentable under
Section 3(p)

(B) Theresearch is not patentable under
Section 3(d)

(C) Theresearch is not patentable under
Section 3(b)

(D) Theresearch is not patentable under
Section 3(a)

82. ciRdai sIURIgzal 20aRlel 2ieelai
RiuR i Kool A3l
A2 oA exfcq V) s 3
Ascdal defl AsIA ?

(A) eird AdlaNdll Q3¢ Jlua
go2dfbea Mf2s

(B) a0l Ag2id Q34 GlRA 48R
(C) #eed os s Q3¢ Sl.oll. aes
(D) uR.®.2die [QA3s BasAy Ke

83. Yeoz 2ulllG1ua 9cvo ofl sdH ¢
URIR, Y2oz WUSRA WA
§29Ald Udlell ofldal ] sAR

R sl 219 ?

A) Ueoz 2RISR oY gylell ¥ 9N Gl
B) W22 SR iy Yylall 3 9 clie
C) 2oz ARSI 3o YAlell 1 9 cile

D) Qzoz 21Mus1A und &1 g sigue
A

84. si.wddA \ldiali  2iMNual eyl
Meg 3 wiofoll g2ioll HNed GuA2)
HguAA (sRAIfiexs) ol ARAR A2
sfl s 8. sl@d gl Udidl
Gl RAMeel H12 Veoz RS
Angdl WY s 1A B, Vzoz
SIIEI 1GWo all Afeefai oflA exufe
Us] s¢ olicid A1l a1y 7

(A) 2ud 2AaMed san 3(Ul) 3sor Vzoz
sdl A3y aie]

(B) 2iig zitNud san 3(8l) o Vzoz
541 Y o?]

(C) =g AiMea san 3(ofl ) 3501 V2o
sl A3 adf]

(D) 2ug =iMes san 3() dsa Veoz
s41 A5 ofef]



85.

86.

87.

Which are the two protocols to the

convention on Biological Diversity ?
(A) Nagoya and Cartagena

(B) Nagoya and Kyoto

(C) Rio and Nagoya
(D) Rio and Cartagena

Patent Cooperation Treaty, 1970 is a

treaty which facilitates

(A) Securing priority date among member
countries

(B) Granting the patent in all member
countries

(C) Searching the patent prior art in all
member countries

(D) Taking action for infringement of

patent

The first geographical indication registered
in India as per the provisions of the
Geographical Indication of Goods Act,

1999 is

(A) Basmati Rice

(B) Kashmir Pashmina
(C) Darjeeling Tea

(D) Nagpur Oranges

85. ¥q Riliadl uRNE ol igifis @
IS sAl B 7

(A) oDl Vial s121Datl
(B) ool al AR
(C) 9D ial oI
(D) AN i sizivall

86. Uzoz S1-vula 8l (Yeoz A&sR

) 1evo Adl 2ifu B I oflAd
olicid i3 Yarudar ydl wis 8.

(A) 0 2N ABiAdl difluid] Wl

(B) dai A6y EMai Veoe 2ifkusRlefl
HloAd|

(C) daia e E22Nai Yeoe 23 A4N16
gloR 8 MEN A duRd

(D) Vzoz 2ifkisiAali eidlotl 2ANNati W2l

Qdi

Vs IoBa g JASU A8
1eee (did Aol eloifls
210y el SIAE 16EE) 350
eiRadi oledd A uaH  Alhls
Rigot 5§ B ?

87.

(A) ciiiad] A
(B) siRaz ulkaor
(C) e1odla1

(D) eioryR Ric



88.

89.

As per the provisions of the Trademark
Act, 1999, the registration of trademark
cannot be refused on the ground that

(A) ltis devoid of distinctive character

(B) It is likely to cause confusion in the
public
(C) It has not been used at all by the

applicant

(D) All of the above

As per the provisions of the Information

Technology Act, 2000, punishment

prescribed for tempering with computer

source document is

(A) Three years imprisonment or fine
upto Rs. 2 lakh or both

(B) Two years imprisonment or fine upto
Rs. 3 lakh or both

(C) One yearimprisonment with Rs. 1 lakh
fine

(D) Only fine upto the damage caused

to the computer system

88.

89.

R [Ugdldl SIAE 1cce

NoidIgA  eRIR  RIUR  Rusailofl
dlgel a2 olA exfca Vsl s

SRRIRR JosR &3 o ASIY ?

(A) A ke dziel wnad «dl

(B) d 132 Yoidlcll Hiol2ali Juge
Bcyoa s3] A5 B

(C) PRYER 121 Aol AURARA A3 SAIHI
2119d o2l

(D) Gurell Vsl aaa

gosiAUel 28aA1D Ase 000 ol
FOlUGA  VoRAR  SlAYRell YN
AU €Ay A1 BSBIS S|
oA  eidd

sAIAi 21dd 8

oled A%l Nl

(A) 211 9y ofl 3¢ 2¥l 3.2 diviell Es
Y4l ol

(B) A avofl 3¢ 214l 3.3 dividll €S
AY4d| o

(C) As u¥oll 3 3.4 divioll €s A1

(D) #I12 SlaRjezal YA ofseloiof] 253
Ydlall €s

R




90. Miss Philo is a famous actress. She | 90. g#dl BA As uvaa wufaoll 8.
deflA As  viiadll Gxaell Wdldl

ad®sol (o 218 el Boliz A¥d
8. defllel s B ol s delldi

has organised a private party with her

close friends at the beach. One of her

friend Mr. Mark clicked her pict ith

ari clicked her picires Wi Ris) Ndiol Aoligda Rotell A D,
his mobile phone wherein Miss Philo A A gl KA el auid
is in her bathing attire and uploaded Uil a9 gREl sl vAdAHI

Ay B. & s g AAA deflofl
doiln clan qar MNRRG Aslan w2
a3 D, ol sy g A FogiAel
25dldl® @Rl w00 ol SY sENH

those pictures on social media without
her consent. The action of Mr. Mark is
punishable under which of the following

sections of the Information Technology
850 A%¥IA Ui ARAR™” 7

Act, 2000 ?
(A) sda 55 ofl

(A) Section 66 B
(B) s6d S5 ¢

B) Section 66 E
®) (C) sdd $5 9l

(C) Section 66 D (D) s §§ g
(D) Section 66 F

91. Under U.S. Constitution what do we | 91. 3.2 ol clgRRl M  cigReiHl

| AQal v €A HURIA g
call the first ten Amendments to the qum'. widdl Mad Y |
sgaii 21 8 ?

Constitution ?
(A) 21dIscAn g SoFseUel

(A) The Articles of confederation
(B) doiAd1Adeid (ueol wél o UsiA

(B) The inalienable rights adl) fusiD

(C) The declaration of independence ©) 35Q2Udl 205 losUedo

D) The bill of rights
(D) The bill ot rig (D) Bia g A2




92.

93.

94.

95.

What is the ‘Rule of Law’ ?

(A) Everyone but the President must
follow the law

(B) Government does not have to follow
the law

(C) All laws must be the same in every
state

(D) Everyone must follow the law

What are the two parts of the U.S.
Congress ?

(A) The house of Representatives and
the County

(B) The House of Lords and the House
of Commons

(C) The Senate and the House of
Representative

(D) The Senate and the County

The Judicial Review in the Constitution
of India is based on

(A) Precedents and Conventions
(B)

(©)

(D) Procedure Established by Law

Rule of Law

Due Process of Law

The present Constitution of France is also
known as

(A) Constitution of Fourth Republic
(B) Constitution of Third Republic
(C) Constitution of Fifth Republic

(D) None of the above

92.

93.

94.

95.

SIUElg] 2RI A2d g ?

(A) aguld Ry daAd A8 s1uElqg
uide 59

(B) SR sRI SRIEIY VIda Sdlgf
289 ok

(C) daid A¥NAI SIAEI Aol W

(D) a3y <lbd sRl SIuEIY Uida
sdlg 239

Y. 4. SiAAall A cidN sA B 7

(A) €16y g MBe2ReAH a 5160

(B) &I6A 21§ AISA i &IBA s
Sl

(C) Aadle i 616AH s AAxsoelecA
(D) Adl2 ia s16ed)

GiRadi ciaRei ARS YorigAISH
2tell G 2neRa & 7

(A) ydlaei) e :AAca

(B) siuEls] ARal

(C) siaeidll My ufs

(D) siIEl sRI RN 29l w2

glodo] &lclg olEREI
adlg yer Aavigpii 219 1.
(A) Slodleyial Mg el Aulas

(B) SWe=dleyziol g s Aulas
(C) fdeyaia s Bsa Mulkas
(D) Gwaiell 81¢f «ilk



96. The present Constitution of France was | 96. glodof &ldg clarR@l  SAR

adopted in ellsraini 21dg
(A) 1964 (A) 1€esy
(B) 1956 (B) 1e€us
(C) 1958 (C) 1eu¢
(D) 1802 (D) 1¢oR

97. Whatis the object of Right to Information | 97. aiftdlal ilisiReil SRIEl 00y ol
3g M B 7

(A) anaRdla ukdiefl ceddiol

Act, 2005 ?

(A) To empower the citizens

(B) ureRidial MicRiigol Aug
(B) To promote transparency

C) Gazeificua MicRilgd Ny
(C) To promote accountability (©) ¢ 4

(D) All the above (D) 6UASd dAHIAH

98. How many years old information can be | 98. ifkfdell 2ifisiRell s1UEI 004 4RI

asked under Right to Information Act, Bzt o el aulkdl aicll usi 2
2005 ? (A) v od
(A) 15 years old (B) 2y a¥
B
(B) 25 years old (©) 30 af
(C) 30 years old
(D) 20 ay

(D) 20 years old

T S S




99.

100.

What is the time limit to get information

under Right to Information Abt, 2005 ?
(A) 15 days
(B) 45 days
(C) 60 days

(D) 30 days

So far as establishment of Lokayukta
under Lokpal and Lokayuktas Act, 2013,
which of the following is true ?

(A) Every state shall establish Lokayukta
by the law of the legislature, if not
established earlier, within one year
from the date of commencement of
the Act

(B) The states already having Lokayukta
shall amend their Acts, within one
year and other states shall establish
within two years from the date of
commencement of the Act

(C) Every state shall establish Lokayukta
strictly under this Act within four years
from the date of commencement of
the Act

(D) None of the above

'99. Adilkdlell vUSR 1A 2004 359
HBEA urd sal 2ol AHAAHATEN
sedl B ?

(A) 1y kg3

(B)
(©)
(D)

™ aw

so [Eq

30 [Eg

100. AlsUId Vid AISIYsd €R) w13
WUNell viadNa ofld exifecn Vel sy
vii 8 7

(A)

% A%l ugAl 22uidd o & d)
£35 AVY 4RI SKE g1 AISY5sd
ol [aa1Ris s18) dR| YAlell As
a¥oll 2iex salell 282

% AN Ul AsYsd A A
Al SR UAR YAloit As  g¥of]
22 Uldiol) SRIO YURA A 2o
AR SUA AR Al A i
Wnall 529

MAS A¥A sl sKyEl 8659
disiysdofl s 41 siAA dI9Y
dlell AR gof]l ek 5W2AId FJ
sdiefl 289

(D) Gusiiel 8\ afk
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